Year 11 Extension I assessment task 2 25/3/°04
Show all necessary working. Examiners’ Use A
Set out your steps clearly Section A - /20
Hand in two bundles -Section A and '
Section B »
Attach the question paper to Section A Section B /21
‘Total /41
Name: Teacher: J j
Section A
Q.1) (a) Show that
2 N e
@ R g “ (3m)
l1+cot’«x L s e
2 cos’6-1
ii — —= 2m
(,) cos*0—-sin’ 0 (2m)
1+ cotf secH '
i) Simplif : - 4m
(@) P cosect tanf+cotf (4m)
Q. 2) Solve forx :
- 1 , *4"& :
a) tan(x —45°) = ——= where —-180”< x <180° i - (3m
(a) ‘ ( ) Nl (3m)
(b) 2cos®x+sinx—2=0 where 0° <x < 360° (4m)
Q.3) (1) On the same set of axes sketch the graphs of ,
y-sin X and y= cosec X, 0 < x < 360° (3m)
(ii) Infer from the graph, the points of intersection in the stated domain.  (1m)

(Pleése turn over for Section B)
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Section B

Q.4) a) Find the perpendicular distance between the point (2,3) and the line
2x-3y+7=0 (2m)

(b) Given that the perpendicular distance between the point (1,-3) and the line
3x-+4y- p=0is 4, find the possible values of p. '

P > (3m)
Q.5) The line 2x+y-5=0 and x-y+2 = 0 intersect at a point P.
(i) Show that the gradient of any line passing through P is given by%{illi ,
v (2m)
(ii) Hence find the equation of the line that passes through P and is parallel to the
y axis. (2m)
Q.6) (a) Find the acute angle between the lines 2x+y-5=0 and x-y+2 = 0 (Bm)
(b) Find the acute angle between the lines x =3 and y = V3x+1 (2m)
Q.7) Shade the region determined by the following inequalities
y<x? 2x-3y+620 (3m)
Q.8) (a) A (1,3) and B( 6,-2) are two points. -
Find the coordinates of the point that divides AB internally in the ratio 1:4
- (2m)

(b) Point B(3,5) divides the interval joining point A and point C (6,8) internally
in the ratio 4:3. Find the coordinates of the point A.

(2m)
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